PRELIMINARY EXAM FOR THE POST OF SECURITY ASSISTANT GR.II (TECH!

GENERAL KNOWLEDGE & CURRENT AFFAIRS; GENERAL ENGLISH AND MENTAL ABILITY
INSTRUCTIONS : (i) Write

PARLIAMENT OF INDIA
(JOINT RECRUITMENT CELL)

IN LOK SABHA SECRETARIAT
29" SEPTEMBER, 2013

your Roll No. and other details in the appropriate columns of the OMR answer

sheet. (i) Mark the correct answer by fully darkening/blackening the circle. In case you feel that there is more
than one correct response, mark the response which you consider the best. In any case, choose only one
response for each question. Use blue or black Ball Pen only to mark your response. (iii) The answer once

marked in Ball Pen cannot be changed. (iv) All questions carry equal marks. (v) There will be NO negative
marking for the wrong answers.
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PART -A : GENERAL KNOWLEDGE & CURRENT AFFAIRS

Name the Commission that was constituted by the Union Government on 26 December 2012 to inquire
into the different aspects of the brutal rape and assault incident of the girl on 16 December 2012 on the
streets of Delhi and was asked to submit the report of its findings within three months:

(A) Kalelkar Commission (B) Usha Mehra Commission (C) Narendran Commission (D) Mandal Commission
Life Time Achievement Award, 2012 was conferred to an Indian by Ernst & Young. Name the person who
was conferred with the award:

(A) Azim Premii (B) Aditya Vikram Birla (C) Gautam Thapar (D) Ratan Tata

Hitler Party which came into power in 1933 is known as:

(A) Labour Party (B) Nazi Party (C) Ku-Klus-Klan (D) Democratic Party
First human heart transplant operation conducted by Dr. Christian Bernard on Louis Washkansky, was
conducted in : (A) 1967 (B) 1968 (C) 1958 (D) 1922

For which subject Abel Prize is awarded : (A) Physics (B) Chemistry (C) Mathematic (D) Literature
Exposure to sunlight helps a person improve his health because:

(A) the infrared light kills bacteriain the body ~ (B) resistance power increases (C) the pigment cells in the
skin get stimulated and produce a healthy tan (D) the ultraviolet rays convert skin oil into Vitamin D

Golf player Vijay Singh belongs to which country : () USA (B) Fiji (C) India’ (D) UK
Dumpingis : (A) selling of goods abroad at a price well below the production cost at the home market price
(B) the process by which the supply of a manufacture’s product remains low in the domestic market, which
fetches him better price (C) prohibited by regulations of GATT (D) Al of these

Famous sculptures depicting art of love built some time in 950 AD-1050AD are:

(A) Khajuraho temples (B) Jama Masjid (C) Sun temple (D) Mahabalipuram temples
From the following, choose the set in which names of Secretaries-General of the UNO are arranged in
correct chronological order : (A) U Thant, Kurt Waldheim, Dag Hammarskjoeld, Trygve Lie

(B) Trygve Lie, Dag Hammarskjoeld, U Thant, Kurt Waldheim (C) Trygve Lie, U Thant, Dag Hammarskjoeld,

Kurt Waldheim . (D) U Thant, Dag Hammarskjoeld, Trygve Lie, Kurt Waldheim

Fire temple is the place of worship of which of the following religion:

(A) Taoism (B) Judaism (C) Zoroastrianism (Parsi Religion) (D) Shintoism

India has largest deposits of in the World :(A) gold  (B) copper (C) mica (D) none of these
How many Lok Sabha seats belong to Rajasthan :  (A) 32 (B) 25 (C) 30 (D) 17

In which year, terrorists crash two planes into New York's World Trade Centre on September 11 in a
sequence of destruction : (A) 2000 (B) 2001 (C) 2002 (D) 2003

In which season do we need more fat: (A) Rainy season (B) Spring (C) Winter (D) Summer
If force is expressed in Newton and the distance in metre, then the work done is expressed in :

(A) Joule (B) Kg wt (C) Kgwtm (D) Watt

How many times has Brazil won the World Cup Football Championship :

(A) Four times (B) Twice (C) Five times (D) Once
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Gilt-edged market means:
(A) Bullion market (B) Market of government securities (C) Market of guns (D) Market of pure me\
In the last one decade, which one among the following sectors has attracted the highest Fg
Investment inflows into India : (A) Chemicals other than fertilizers (B) Services sector

(C) Food processing (D) Telecommunication
In the second nationalization of Commercial Banks, -------banks were nationalized :(A) 4 (B)5(C)6 (D
Foreign Direct Investmerit cailing in the telecom sector have been raised from 49 percent to :

(A) 74 percent (B) 51 percent (C) 90 percent (D) 100 percent
Deficit Financing implies :(A) printing new currency notes (B) replacing new currency with wam out currency
(C) public expenditure in excess of public revenue (D) public revenue in excess of public expenditure,

The average rate of domestic savings (gross) for the Indian ecoiicmy is currently estimated to be in the
range of : (A) 1510 20 percent ~ (B) 20 to 25 percent (C) 2510 30 perceiit (D) 30 to 35 percent
Devaluation of currency will be more beneficial if !(A) Prices of domestic goods remain constant ) Prices
of exports remain constant (C) Prices of imports remains constant (D) Prices of exports rise proportionately

The currency convertibility concept in its original form originated in:

(A) Wells Agreement  (B) Bretton Woods Agreement  (C) Taylors Agreement (D) None of these

In the State of India, the State Financial Corporation have given assistance mainly to develop

(A) Agricultural farms  (B) Cottage industry (C) Large-scale industries  (D)medium and small-scale industries
Who has written the book "My frozen Turbulence in Kashmir':

(A) Anees Jung (B) Jagmohan (C) M.J. Akbar (D) Nissim Ezekie

In India the first television programme was broadcast in : (A) 1959 (B) 1965 (C) 1976 (D) 1957

Who said “| therefore, want freedom immediately, this very night, before dawn, if it can be had”

(A) Jawaharlal Nehru (B) Mahatma Gandhi  (C) Rajendra Prasad (D) Nelson Mandela
The book ‘Gulliver’s Travels’ was written by :
(A) Alexandra Dumas (B) Charies Lamb (C) Charles Dickens (D) Jonathan Swift

Which City is known as “Electronic City of India’ :(A) Mumbai (B) Hyderabad (C) Gurgaon (D) Bangalore
Which is known as "Garden City of India’:  (A) Trivandrum (B) Imphal (C) Simla (D) Bangalore
‘Kanchipuram’ is in which of the following states : (A) Andhra Pradesh (B) Orissa (C)Kerala (D)Tamil Nadu
What is the predominant type of Indian agriculture:

(A) Commercial agriculture (B) Extensive agriculture (C) Plantation agriculture (D) Subsistence agriculture
Which of the following has a potential for harnessing of tidal energy in India:

(A) Gulf of Cambay (B) Gulf of Mannar (C) Backwaters of Kerala (D) Chilka lake
Who received the Tagore Award for Cultural Harmony, 2013:
(A) Jubin Mehta (B) Gulam Ali (C) Nusrat Fateh Ali Khan (D) Javed Akhtar

What James Watt invented :  (A) Diving bell (B) Steam boat (C) Hot air balloon (D)Rotary Steam engine
What Benjamin Franklin invented : (A) Bifocal spectacles (B)Radio  (C) Barometer (D) Hygrometer
What Karl Benz invented : (A) Gasoline powered automobile (B) Streetcar (C) Glider (D) Steam turbine
‘Madhuban’, a style of folk paintings, is popular in which of the following states in India:

(A) Uttar Pradesh (B) Rajasthan (C) Madhya Pradesh (D) Bihar

The Muslim League as a political party was founded in : (A) 1906 (B) 1909  (C) 1915 (D) 1918
The Preamble to our Constitution includes all the following except:

(A) Adult franchise (B) Equality of status  (C) Fraternity (D) Justice

The Members of the Standing Committee are taken from the Lok Sabha and Rajya Sabha in the ratio of:
(A) two and one respectively (B) three and one respectively

(C) four and one respectively (D) equal members from both the Houses

The Oath of Office is administered to the Governor by the:

(A) Chief Justice of India (B) President (C) Chief Justice of High Court (D) Speaker of Legislative Assembly
What does the Writ of Mandamus mean : (A) Command (B) Petition  (C) Appeal (D) Request

The minimum number of members that must be present to hold the meeting of the Lok Sabha is:

(A) one-fourth of the total membership (B) one-tenth of the total membership of the Houses

(C) 50 percent strength of the Lok Sabha (D) at least 100 members
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The President demand for further reforms, attended with the dislocation caused by the n®
movement, led the British government to appoint a Statutory Commission in 1927. The Com
headed by: (A) Sir John Simon (B) Lord Chelmsford (C) Lord Minto (D) E.S. Montague
Which of the following is used in pencils : (A) Graphite (B) Silicon (C) Charcoal (D) Phosphd

The hardest substance available on earth is : (A) Gold (B) Iran (C) Diamond (D) Platinum
The inert gas which is substituted for nitrogen in the air used by deep sea divers for breathing, is:
(A) Argon (B) Xenon (C) Helium (D) Krypton

Galvanised iron sheets have a coatingof:  (A) Lead (B) Chromium  (C) Zinc (D) Tin

Among the various allotropes of Carbon: ;
(A) Coke is the hardest, graphite is the softest  (B) Diamond is the hardest, coke is the softest  (C) Diamond

is the hardest, graphite is the softest (D) Diamond is the hardest, lamp black is the softest

Heavy water is : (A) Deuterium oxide  (B)PH7 (C) Rain water (D) Tritium oxide
Sodium metal is kept under: (A) Petrol (B) Aleohol (C) Water (D) Kerosene

Most fish do not sink in water because of the presence of :

. Swim bladder Il. Air bladder |ll. Airsacs IV. Air in spongy bones

(A) | and |l are correct  (B) Il and Ill are correct (C) Il and IV are correct (D) I, I, [l and IV are correct
Most highly intelligent mammals are : (A) Whales (B) Dolphins  (C) Elephants (D) Kangaroos
Tripitakas are sacred books of : (A) Buddhists  (B) Hindus (C) Jains (D) None of these

The language of discourses of Gautama Buddha was :(A) Bhojpuri  (B) Magadhi  (C) Pali (D) Sanskrit
There were widespread risings against the British in the 1820s. Which one of the following did not revolt

in the 1820s. : (A) Santhals (B) Ahoms (C) Pagal Panthis (D) Ramosi
Tulsidas, the author of Ramcharitmanas, was a contemporary of which of the following ruler:
(A) Akbar (B) Humayun (C) Shahjahan (D) Sher Shah Suri

The Great Victoria Desert is located in :(A) Canada  (B) West Africa (C) Australia (D) North America
The limit beyond which the stars suffer internal collapse is called the:

(A) Raman Effect (B) Chandrasekhar limit (C) Aurora Borealis (D) Quasan Zone

The highest mountains in Africa, which is not part of any mountains chain, is :

(A) Mt. Aconcagua (B) Mt. Kilimanjaro (C) Mt. Kosciusco (D) Mont Blanc

The heavier silicates named as "Sima’ or SilicatMagnesium are most abundant in the:

(A) Crust (B) Core (C) Mantle (D) Ocean floors

Which County did Ravi Shastri play for : (A) Glamorgan (B) Leicestershire (C) Gloucestershire (D) Lancashire
Who is the first Indian woman to win an Asian Games gold in 400m run:

(A) M.L. Valsamma (B) P.T. Usha (C) Kamaljit Sandhu (D) K. Malleshwari

In which Indian state did the game of Polo originate:

(A) Meghalaya (B) Rajasthan (C) Manipur (D) West Bengal

Which of the following is a Manipuri version of Hockey:

(A) Khong Kangjei (B) Hiyang Tanaba (C) Yubi Lakpi (D) Yupi-Lakpi

Former Australian captain Allan Border was sometimes known as “Captain Grumpy”. What was his other
nickname:  (A) Abe (B) Captain Junior (C) AB (D) Groucho

Which track and field star overcame childhood polio to become one of the greatest athletes of her time:
(A) Wilma Rudolph (B) Gail Devers (C) Florence Griffith Joyner (D) Jackie Robinson
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PART-B : GENERAL ENGLISH

Choose the word Opposite in meaning to the given word:

Sagacious  : (A)timid (B) having poor judgement (C) cautious (D) lacking a sense of enterpris®
Cantankerous : (A) having a disposition to please (B) bad tempered and cooperative

(C) a hymn or chant (D) giving a lot of space
Chaotic : (A) confused (B) haphazard (C) orderly (D) unplanned
Garrulous : (A) tiresome (B) pleasant (C) artless (D) quiet
Nimble : (A) agile (B) vagrant (C) strident (D) slow
Profane : (A) rigid (B) boastful (C) sacred (D) polite
Abstruse ' (A) terse (B) calm (C) clear (D) pliable
Haughty ' (A) modest (B) despicable (C) sudden (D) hateful
Idiosyncratic : (A) unique (B) common (C) perfect (D) nonsensical
Meteoric : (A) sluggish (B) pertaining to space (C) very rapid (D) symbolic
Out of the options given, choose the one nearest in meaning to the given word :
Exhort . (A) threaten (B) encourage (C) show . (D) alert
Emanate . (A) express (B) invent (C) originate (D) enter
Allure : (A) refer to (B) entice (C) care + (D) touch on
Factitious : (A) not genuine (B) concerned with facts (C) exact copy (D) in opposition
Sacrilegious : (A) respected (B) sacrificing (C) sadistic (D) blasphemous
Robust . (A) sturdy (B) robotic (C) rocky (D) dishonest
Fastidious  : (A) quick (B) brittle (C) silly (D) fussy
Canard : (A) story (B) humidity (C) prison (D) rumour
Vaunt : (A) desire (B) boast (C) joke (D) please
Morose : (A) humble (B) morsel (C) sullen (D) repugnant

Out of the four alternatives given for each question, choose the one which can be substituted for the

given words

Money or gifts given generously :

A spectacular show or display :

Classification of living and extinct organisms : (A) taxidermy

(A) larder
Not aware of what is happening around one : (A) oblivious
A group of performers working together :
A person having a volatile personality :

(B) largesse

(C) lasagne

(D) laudanum

(B) obnoxious  (C) perceptible (D) palpable

(B) agitated

(C) panicky

(A) coterie (B) ensemble (C) agglomeration (D) congregation
(A) mercurial
(A) pagado

(D) barbarous

(B) pageantry (C) palanquin (D) palindrome

(B) vermiform  (C) lineage

(D) taxonomy

Each question consists of an idiom followed by four explanation. Choose the answer which is most suitable

Have an axe to grind : (A) to be violent

Achilles’ Heel : (A) an individual's
To be a wet blanket :

Knee-jerk response :

To play to the gallery : (A) to do things that will make people support and admire one

(C) to be a good gardner

(A) to feel cold

(C) to spoil a relationship

(A) an immediate unthinking reaction

(C) a timid reaction
Look like something that the cat dragged in : (A) look very idy like a cat
(B) the mouse which is dragged by a cat (C) look untidy and dirty (D) look very ill

(B) to have something to gain by an action

(D) to have criminal tendencies

weakness  (B) injured foot (C)immense pressure (D) personal jealousy
(B) a person who discourages enthusiasm

(D) to not provide any practical result

(B) a painful reaction

(D) a quick smart reaction

(B) to become friendly again (C) to perform for the common people (D) to enact a play in the stadium
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V. Fill in the blanks with suitable prepositions :

103.  Mr. Gupta is on leave «--------a week, (A) for (B) since (C) until

104.  The child suddenly woke up midnight. (A) during (B) in (C) by

105.  We had climbed the mountain ~-—--—-sunset. (A) on (B) at (C) by

106.  The classes will begin «------a week's time. (Ayon  (B)from (C)by (D)in
107.  When | went to Kerala, | stayed-------Hotel Fort Manor. (A)in (B) at (C)on (D)into
108.  The baby ate the bananas her own hands. (A) by (B) with (C) from (D) of
108.  Someone put his hand my bag and stole the money. (A)to (B) towards (C) into (D) at
110.  There was a sudden rise ------temperature yesterday. (A)of (B)in (C) across (D) from

VL. Fill in the blanks with the most appropriate form of the verb from the options given

111. He in a queue because he already had a ticket. He just walked in.

(A) needn't stand (B) didn’t need to stand (C) needn't have stood (D) needn't fo stand
112, Mr. Kumar ----—--to the office in his car each morning: (A)go  (B)isgoing (C) goes (D) went
113.  When the fog «eseeses , we shall go out.

(A) disappeared (B) disappears (C) disappear (D)has been disappeared
114.  The Consultant «------ in Italy before she got this contract. )

(A) never work (B) have never worked (C) had never worked (D) had never work
115.  Sunita recently «eeexeee- to move to Delhi.

(A) decided (B) was deciding (C) had been deciding (D) had been decided
116.  We would be doing much better if we -50 much money last year.

(A) had wasted (B) had not waste (C) hadn't wasted (D) hadn't been wasted
117.  ffonlyl what | know now, | would never have worked for this company.

(A) knowed (B) know (C) had known (D) will have known
118.  She in London since her childhood.

(A) has been living (B) been living (C) lives (D) have lived
119.  Ifthe parts -------.delivered earlier, we might have been able to start work on time.

(A) might have been  (B) were (C) would have been (D) had been
120.  When -----writing the report of the meeting ?

(A) have you finished  (B) are you finishing (C) do you finish (D) will you have finished

VIl.  Choose the word or phrase which completes each sentence best :

121, In India, governance has been an «-—-problem, one very difficult to change owing to the deep-rooted
bureaucracy and opaque lines of power.

(A) intractable (B) uncontroliable (C) stubbomn (D) unresolved
122.  The aspiring candidate’s performance in the debate all but ~---e-eee- any hope he may have had of winning
the election. : (A) nullifies  (B) encourages (C) guarantees (D) accentuates
123.  She is the most -------person | have ever met, seemingly with an endless reserve of energy.
(A) Jejune ] (B) vivacious (C) impudent (D) solicitious
124.  Despite all its -, a stint in the diplomatic core is invariably an uplifting experience.
(A) merits (B) compensation (C) effectiveness (D) rigours
125.  Though most explicitly sexist words have been replaced by gender-neutral terms, sexism thrives in the -
~-----0f many words. : (A) indistinctness (B) loquacity  (C) implications (D) similitude
126.  In these politically correct times, it has become s to discuss certain subjects at all.
(A) safe (B) efficacious (C) precarious (D) effortless
127.  Her stern attitude towards the child was complemented with plenty of ~seeeex-,
(A) love (B) spite (C) indifference (D) ambivalence
128.  Though ~----~toward his own needs, he was always magnanimous toward others,
(A) miserly (B) charitable (C) improvident (D) profligate
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129.  Although the warring parties have settled a number of disputes, past experience nm
express optimism that the talks would be a success.: (A) rash (B) ambivalent (C) scomful
130.  Anindividual who is is incapable of flight.: (A) modest (B) fettered (C) inconsistent

VIl Each question has four parts, one of which has an error, find out the part which contains the error.

131.  (A) The possibility of massive earthquakes (B) are regarded by most people

(C) with a mixture of (D) skepticism and caution
132.  (A) Lohen | met him yesterday (B) he said (C) he is certainly (D) coming
133.  (A) In his heart of hearts (B) he knows (C) he shouldn't (D) have done it
134. (A)He's been (B) teaching English ~ (C) at China (D) for many years
135.  (A) | am perfectly understanding (B) the lesson after (C) you spent an hour (D) explaining it to me
136.  (A) He performed (B) many charities (C) in the course (D) of his long life
137.  (A) The crowd which has gather (B) fo protest against the decision (C) slowly returned (D) to their homes
138.  (A) Besides criticism of (B) some supervisors

(C) the chairperson still commands (D) respect from the employees
139.  (A) Please ask your staff (B) if anybody of them (C) has seen (D) my laptop bag
140.  (A) By the end of the war (B) he has been promoted (C) to the rank (D) of captain

PART-C : MENTAL ABILITY

141. A man is facing South. He turns 135° in the anti-clockwise direction and then 1800 in the clockwise
direction. Which direction is he facing now :
(A) East (B) West (C) North (D) South

142, John walks 10 kilometers toward North. From there, he walks 6 kilometers towards South. Then he
walks 3 kilometers East. How far and in which direction is he with reference to his starting point
(A) 5 kilometers West  (B) 5 kilometers North-East (C) 7 kilometers East (D) 7 kilometers West

Directions (Questions 143 to 145 ): Study the information given below carefully and answer the questions that
follow :

A,B,C,D,EF,G,H and | are nine houses. C is 2 km. east of B. A is 1 km. north of B and H is 2 km. south of A. G is 1
km. west of H, while D is 3 km. east of G and Fis 2 km. north of G. | is situated just in the middle of B and C while
E is just in middle of H and D.

143. Distance between Eand G is : (A) 1 km. (B) 1.5 km. (C) 2 km, (D) 5 km.

144,  Distance between E and | is : (A) 1 km. (B) 2 km, (C) 3 km. (D) 4 km.

145. Distance between Aand F is : (A) 1 km. (B)1.41km. (C)2km. (D) 3 km.

146.  Itis 3 o'clock in a watch. If minute hand points towards the north-east, then the hour hand will point
towards the : (A) South (B) South-West (C) North-West (D) South-East

147. A man is performing Yoga with his head down and legs up. His face is towards the West. In which
direction will his left hand be : (A) North (B) South (C) East (D) West

148.  One evening before sunset two friends Sumit and Mohit were talking to each other face to face. If
Mohit’s shadow was exactly to his right side, which direction Sumit facing :
(A) North (B) South (C) West (D) Data inadequate
149.  Which word does NOT belong with the others:  (A) Inch (B) Ounce (C) Centimetre (D) Yard
150. A person writes all the numbers from 0 to 99. The number of times digit 3 will be written is:
(A) 18 (8) 19 (C) 20 (D) 21 :
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151. 504 can be expressed as a product of primes as :
(A)2x2x2x3x3x7 (B) 2x3x3x3x7x7 (C) 2x2x3x3x7x7 (D)2x3x3x
152.  1f204+12.75 = 16, then 2.04+ 1.275=7: (A) 16 (B)1.6 (C) 0.16
1583.  The missing term in the series is :
2,7 24 77, 7, 723
(A) 710 (B)416 (C) 238 (D) 515

154.  Complete the following series 3, 10, 101, :(A) 10101 (B) 11012 (C) 10201 (D) 10202

Directions ( Questions 155 to 156 ) : In each of the following questions, a set of figures carrying certain
characters, is given. Assummg that the character in each set follow a similar pattern, find the missing character is

. Y@
(12

G @9

(A) 21 (B) 25 (C) 35 (D) 45 ¢

(A) 49 &) (B) 76 (C) 89 {D) 94

Directions (Questions 157 to 161 ) : Each of the questions below consists of a question and two statements

numbered | and Il given below it. You have to decide whether the data provided in the statements are sufficient to

answer the question. Read both the statements and give answer:

(a) if the data in Statement -/ alone are sufficient to answer the question, while the data in statement-ll above
are not sufficient to answer the question;

(b) ifthe data in Statement -Il alone are sufficient to answer the question, while the data in Statement-I alone
are not sufficient to answer the question;

(c)  ifthe data either in Statement-I alone or in Statement-ll alone are sufficient to answer the question;

(d) if the data given in both Statements | and Il together are not sufficient to answer the question.

157.  What is the colour of the fresh grass

l. Blue is called green, red is called orange, orange is called yellow.

Il. Yellow is called white, white is called black, green is called brown and brown is called purple.
158.  Which word in the code language means flower

l. ‘de fu la pane’ means 'rose flower is beautiful' and “la quiz’ means “beautiful tree’.

Il. ‘de la chin' means 'red rose flower' and "pa chin’ means ‘red tea’
159.  How is Tanya related to the man in the photograph

I. Man in the photograph is the only son of Tanya's grandfather.

Il. The man in the photograph has no brothers or sisters and his father is Tanya's grandfather.
160.  How is Divya related to Shaloo

l. Divya's mother is sister of Shaloo's father

II. Shaloo is the daughter of Divya's grandfather’s only child. ’
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161. Howis Mrelatedto N
l. B is the daughter of M and sister of Q
ih. N is the son of K who is B's grandfather

Directions (Questions 162 to 166 ) : Read the following information carefully and answer the ques
follow:

(i) B and E are good in Computer Science and Dramatics

(ii) A and B are good in Computer Science and Physics.

(iii) A, DandC are good in Physics and History

(iv)  Cand A are good in Physics and Mathematics

(v) D and E are good in History and Dramatics

162. Who is good in Physics, History and Mathematics, but not in Computer Science : (A) A (B)B(C)C (D) D

163. Who is good in Physics, History and Dramatics : (AJA (B)B (C)D (D)E

164. Who is good in Computer Science, History and Dramatics : (AJA (BB (C)C (D)E

165. Who is good in History, Physics, Computer Science and Mathematics :(A)A (B)B (C)C (D)D

166. Who is good in Physics, Dramatics and Computer Science : (AJA (B)B (C)D (D)E

167. The average of five numbers is 27, If one number is excluded, the average becomes 25. What is the
excluded number: (A)25 (B) 30 (C) 35 (D)40

168  Which is the least among the following : (A)0.3 (B) 0.3333 (C) (0.3)2 (D) ( 1+0.3)

169. The second day of a month is Friday, what will be the last day of the next month which has 31 days.
(A) Friday (B) Saturday (C) Sunday (D) Insufficient data

170.  If 7 spiders make 7 webs in 7 days, then how many days are needed for 1 spider to make 1 web
(A) 1 (B) 3 (C)7 (D) 14

171. Anand works twice as fast as Dinesh. If Dinesh alone can complete a work in 12 days, Anand and
Dinesh can together finish the work in -----days :  (A) 1 (B) 2 (C)3 (D)4

172.  If the letters in the word POWERFUL are rearranged as they appear in the English alphabet, the position
of how many letters will remain unchanged after the rearrangement: (A) None (B) One (C) Two (D) Three

173.  In the series: F2, sssssmmmaesns D8, C16, B32 which number should fill the blank:
(A) A16 (B) G4 (C) E4 (D) E6

174, If 'A’ is substituted by 26, ‘B’ by 25 and so on up to 'Z’ which is substituted by 1, what will be the sum of
the numbers substituted for the word "XRAY":

(A) 38 (B) 39 (C) 40 (D) 42
Directions ( Questions 175 to 177 ) : Answer these questions based on the set of numbers given below
738 429 156 273 894

175.  Which of the following will be the last digit of the second highest number after the positions of digits in
each number is reversed : (A) 1 (B) 2 (C) 4 (D)7

176.  What will be the difference between the first digit of the highest number as well as of the lowest number
after the positions of the first two digits in each number are reversed: (A)4 (B)5 (C)6 (D)7

177.  Which of the following will be the second digit of the third number from the top when they are arranged
in descending order, after the first digit in each number is changed to its next higher digit
(A) 2 (B)3 (C)5 D)7

o

wrensd StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

178.

Directions (Question 179 to 183 ) : In each of the questions given below, there are two Statements labeled

Five children take part in a tournament. Each one has to play every one. How many ga
play: (A)8 (B) 10 (C) 24

Assertion (A) and Reasons (R)
Mark your answer as per the codes provided below

(a)
(b)
(c)

179.

180.

181.

182.

183.

184,

185.

186.

187.

188.

189.

Both A and R are true and R is correct explanation of A.

Both A and R are true but R is not correct explanation of A

A is true but R is false. (d) A is false and R is true

Assertion (A) : When lightening strikes, the sound is heard a litlle after the flash is seen

Reasons (R): The velocity of light is greater than that of the sound

Assertion (A) : A ship rises as it enters the sea from a river.

Reasons (R): The density of sea water is compared to river water.

Assertion (A) : Indian President is the Head of the State

Reasons (R) : Indian Parliament consists of the President, Lok Sabha and Rajya Sabha
Assertion (A):  The pouring of kerosene oil on stagnant pools helps fo eradicate malaria
Reasons (R):  The kerosene oil is poisonous for the mosquitoes

Assertion (A) : Uranium undergoes nuclear fusion reaction.

Reasons (R): [t has a big, unstable nucleus

What is the number of straight lines in the following figures

(A) 10 (B) 12 (C) 13 (D) 17
How many triangles are there in the following figure

(A) 6 ‘ (B) 10 (C) 11 (D) 12

Kamal will complete work in 20 days. If Suresh is 25% more efficient than Kamal, he can complete the
work in «---days: (A) 14 (B) 16 (C) 18 (D) 20

The average age of boys in a class is 16 years and that of the girls is 15 years. What is the average age
forthe whole class:  (A) 15 (B) 15.5 (C) 16 (D) insufficient data

The average weight of 16 boys in a class is 50.25 kg and that of the remaining 8 boys is 45.15 kg. Find
the average weights of all the boys in the class :(A) 48.55  (B) 50.50 (C) 48.75 (D) 51.75
Ravi went to the movies nine days ago. He goes to watch the movies only on Thursday. What day of
the week is today : (A)Monday  (B) Saturday (C) Tuesday (D) Thursday

-9 —
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190. A student has to obtain 33% of the total marks to pass. He got 125 marks and failed™

maximum marks are : (A) 500 (B) 600 (C) 400

191.  Pointing to a photograph, Arun said “She is the mother of my son’s wife’s daughter.” How 13
relatedtothe lady :  (A) Uncle (B) Cousin (C) Davghterindaw (D) Nonc cf these

192. Ramesh’s mother is sisier of Suresh and daughter of Kavita. Nisha is the daughter of Suresh ar¥

of Suman. How is Kavita related to Suman : (A) Uncle  (B) Grandmother (C) Father (D) Grandfather
193.  Five persons are standing in a line. One of the two persons at the extreme ends is a professor and the
other a businessman. An advocate is standing to the right of a student. An author is to the left of the
businessman. The student is standing between the professor and the advocate. Counting from the left,
the advocate is at which place. : (A) 18t (B) 2nd (C) 3 (D) 5™
194,  If all the letters in the word "COVER’ are rearranged in alphabetical order and substituted by the
alphabet preceding them in English alphabet, what will be the new arrangement of letters.

(A) DGHPW (B) DFPSW (C) BEOSW ) (D) BDNQU
195.  Ais two years older than B who is twice as old as C. The total of the ages of A;B, and C is 27. How old
isB: (A)10 (B)8 (C)7 (D)9

196. If ‘cook’ is called butler’, "butler' is called ‘manager’, ‘'manager’ is called teacher’, teacher is called
‘clerk’, and ‘clerk’ is called “principal' who will teach in a class
(A) Cook (B) Butler (C) Manager ) (D) Clerk
197.  If ‘white’ is called "blue’, "blue’ is called ‘red’, ‘red’ is called "yellow’, 'yellow’ is called "green’, ‘green’ is
called black, "black’ is called “violet’ and "violet’ is called ‘orange’, what would be the colour of human
blood : (A) Red (B) Green (C) Yellow (D) Violet

198.  If 'sky’ is ‘star’, ‘star’ is cloud’, "cloud’ is ‘earth’, "earth’ is “tree’ and "tree’ is "book’, then where do the
birds fly : (A) Cloud (B) Sky (C) Star (D) Data inadequate

Directions (Question 199 and 200 ): In each of the following questions, certain statements are given followed by a
conclusion based upon them. Choose the alternative which best applies to the given statements and conclusion.

199. Statements: 1 Only those young men smoke who do not go to colleges.
2 Only those young men go to colleges who are not smart.

Conclusion:  Smart young men do not smoke.
The conclusion drawn is :
(A) probably true (B) definitely true (C) probably false (D) definitely false
200. Statements: 1 The no-confidence motion is often allowed to be debated upon.
2 There was a no-confidence motion last week.

Conclusion : It was debated upon by parties concerned.

The conclusion drawn is :
(A) definitely true (B) probably false (C) definitely false (D) can't say
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